Zubehor und Ersatzteile fur Planspiral-Drehfutter
Accessories and spare parts for lathe chucks

Planspiralringe
Scroll plates
Fir / for Art.-Nr./
@ mm Order no.
80 ) zE-pLr32-080
100 ) zE-pLr32-100
125 B ze-PLR32-125
160 B ze-PLR32-160
200 ) zE-pLr32-200
250 ) zE-pLR32-250
315 B ze-PLR32-315
400 B ze-PLR32-200
500 ZE-PLR32-500
630 ZE-PLR32-630
800 ZE-PLR32-800

Preis pro Stiick / Price per piece

Ritzel fiir Gussfutter
Pinions for cast iron chucks

Far / for Art.-Nr. /

@ mm Order no.
80 B zE-riz2-080
100 B zE-riz2-100
125 B zE-riz2-125
160 B ze-riz2-160
200 B zE-riz2-200
250 B zE-riz2-250
315 B zE-ri32-315
400 B ze-ri32-400
500 B zE-riz2-500
630 ) zE-riz2-630
800 B zE-riz2-800

Ritzel fiir Stahlfutter Preis pro Stiick / Price per piece

Pinions for steel chucks

Fir / for Art.-Nr./

@ mm Order no.
125 B ze-rizs-125
160 ) zE-rizs-160
200 B zE-rizs-200
250 B zE-riss-250
315 B zE-rizs-315
400 B zE-rizs-400
500 ZE-RI35-500
630 ZE-RI35-630
800 ZE-RI35-800

Preis pro Stiick / Price per piece

Ersatzbolzen, DIN 55027
Studs, DIN 55027

KK/ MaB / Ben. Stickzahl / Art.-Nr./

Taper Measure Required quantity Order no.
3 M10 x 34 3 B zE-sB3
4 M10 x 39 3 B ze-sB4
5 M10 x 43 4 B z=sBs
6 M12 x 50 4 ) zE-sBs
8 M16 x 60 4 B zEsBs
1 M20 x 75 6 B ze-se-11
15 M24 x 90 6 B ze-sB-15

Preis pro Stlick / Price per piece





